Finding absolute extrema — Answers

Determine the absolute extrema of the given function on the specified interval.

Lo f@)=82% + 8122 — 42z —8on[-8,2] |*  f(x) =8z® + 81z — 42z —8on [—4,2]
Absolute maximum of 1511 atx=-7 Absolute maximum of 944 at x = —4
.. 1
Absolute minimum of —13.3125 at x = i Absolute minimum of —13.3125 atx =7
3 R(t) =1+802 45t —2t5on[—4.5, 4] |4 R(t) =1+ 80 + 5t —2t° on [0, 7]
Absolute maximum of 4353 atr =4 Absolute maximum of 8209 at = 6
Absolute minimum of —1791 at r = —4 Absolute minimum of 1 at =0
5. h(z)=42*—-322+92+4120n[-2,1] |6 g(z) = 3z* — 262 + 60z° — 11 on [1, 5]
Absolute maximum of 22 at z = 1 Absolute maximum of 114 at x =5
7. o o 472 3 - 8. . E 1
Q(z) = (2 —8z)*(z2 —9)  on [-3,3] h (w) = 203 (w + 2)° on [_E’ E]
Absolute maximum of 0 at x =3, x = %, x=3
o ; Absolute maximum of 24.4141 at w =
Absolute minimum of 1.38x10’ at x = 1.8239 2
Absolute minimum of —2.5749 at w = —Z
=4+ 4 10. 2
% f(z) = ———— on[-10,0] A(t) =2 (10 — )% on [2, 10.5]
222 + 2+ 8 ’
) 1 Absolute maximum of 103.613 at ¢ = e
Absolute maximum of Satz= 0 2
o Absolute minimum of 0 at 7 = 10
Absolute minimum of —0.03128 at 7z = —4—3v2
12
11. : y) 2y ' 1 5
= sin| — — on [—10,15 o awi-2wioy
F(y) (3 +9 [—10,15] g(w)=e" =" "™on 30 3
Absolute maximum of 2.3744 at y = 15 . 23 1
Absolute maximum of e® at w = — 5
Absolute minimum of —2.2790 at y = —6.9016 o
Absolute minimum of e 27 atw = g
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